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Solve th.e linear system by graphing (show me how you graphed). Remember, you must check your solution
algebraically. Then classify the system as consistent and independent, consistent and dependent, or inconsistent.
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2) —2x+6y=6
3y+15=x

—9x + 6y = -6
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4.) A business rents in- -line skates for $15 and bicycles for $30. During one day, the business has a to al o 25 rentals - gV
and collects $450 for the rentals. Find the number of pairs of skqtes rented and the number of bicycles rented.
a.) Write a linear system that represents the situation. Let. xb be the number oLg,u;s\f skates rented and let ty
be the number of blcycles rqnted T
X ¥ - Ay T T "
EO' + ﬂU ) 4») ' i N . ]
B BEERERR
b.) Graph both equations to find your solution. \ Lo f
Show what you used to graph. Notice the scale. | NG ;
ry=75 153 4304 =450 | o | | TNs
t (25 0\ X- 1Ny s 450 i N ;
X‘m (25, (30,0) x =30 = = 1 -
g-1nt (0, 25) y-int: 30y-a50 | 4 ¢ M ¥
c.) How many in-line skates and bikes were rented '-\5 <
on this particular day? Check your answer. L \ \ 5)
(20,5) Jor5:295 1520 r3005)=1450

\zo SLOHS > 5 RS

25-75Y 300 +)50 : 450

“450= %30V

Scanned by CamScanner



Solve the linear system using substitution

6.) 4x+3y=0
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7) —x+3y=-9 =x*"9-3y
x4y =2 . Bx-4y=32 x = Ut3y c
YUxr 3(-¢-2x) =0 \, -1 5) ] . . Y = ‘1,3(_2)
Qx -\ lox - O N 12y 2%y -1y~ 3¢ = 8|
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A" -4 X=3)
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8) -3x—-4y=4 9) =2x+6y = 6
§x+3y.=—:3 -7x+8y = =5
oX= =7-0Y _ B “-Ix 40 b
X=-1-y X=-1-(-1) g | .
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Solve the linearsystem using elimination. : _\3 ('3’ Z) .
Warmon 512y-93 1121((3;;+ FA ?
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Ax="1 (=5 20% = 20%
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14.) A dlrlun;mer is stocking up on drum sticks and brushes. The wood sticks that he buys are $10.50 a pair and
the brushes are $24 a pair. He ends up spending $90 on sticks and brushes and buys two times as many
pairs of sticks as brushes.

a.) Define variables for the unknowns. Write a system of equations that models the situation.
10.50x + 729y = 90 x=4 ¢t Qours ofF shug
3 y =W of Pasrs of prushe
X=/Z Y

amm——

b.) Solve your system of equations using the method of your choice.
V.50 (7 - 90
10.50(7y) + 24y - 1 X =2y
ANER 'Z"\\j =90

4Su - 90

c.) ___I:Iﬁgyu_r‘ many pairs of sticks and brushes did he buy?

T pairs of 51'\;(,\1.,5“"7
Z ponrs of Yyv SDCS

(C“ 15.) Two cars get an oil change at the same service center. Each customer is charged a fee x (in dollars) for the
oil change plus y dollars per quart of oil used. The oil change for the car that requires 5 quarts of oil

costs $22.45. The oil change for the car that requires 7 quarts of oil costs $25.45.

a.) Define variables for the unknowns. Write a system of equations that models the Vit\uation.
T Bu=22.05 iitge Fu

Ix +5y=z7245 =) C
1. .‘X 53 <7245 z;*—%&gi Dl vary of
L ‘lx-f'lq-,LSHS} o)

e

b.) Solve your system of equations using the method of your choice.

X+ 5y - 2245
"RX 1 ‘lg ._2545) X+ 53 = ZZ"}S

-X -9 = -25.%5 X +5(1.90) = 2245
MEY A X + 1502245

[x=314.95)

O c.) Find the fee and the cost per quart of oil.

T 95 o dhknge R
11.50 pev quary of ovl
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16.) During a football game, the parents of the football players sell pretzels and popcorn to raise money f'or new s
d $2 for a pretzel. The parents collect $336 in

uniforms. They charge $2.50 for a bag of popcorn an » ¢
sales during the game. They sell twice as many bags of popcorn as pretzels. How many ags o
popcorn do they sell? How many pretzels do they sell? o

a.) Define variables for the unknowns. Write a system of equations that models the situation.

2.50x + 7y-= 330 X= pogs of popOrn
' = (Y7 )s
X~ 2y \jttofywt

b.) Solve your system of equations using the method of your choice.
75017 o, - 33\ _
.5 ( S) ZB ’) > X - ’Z
591 7y =330 % = 72.(4%)

9T B

c.) How many bags of popcorn do they sell? How many pretzels do they sell?
\ Gu yans of poporn O
\J
L] < vt 7
% prevetis
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